Pick’s theorem.

Using squared dotty paper, draw several shapes that have no dots inside. 

Calculate their areas, and count the number of dots that lie exactly on the perimeter of the shape. Record these results.

	Area
	Number of perimeter dots

	
	


What connection is there between the number of perimeter dots and the areas of the shapes?

The result should look like 

PD = 2(A +1), where PD stands for the number of perimeter dots, and A stands for the area of the shape.

What happens with shapes that have one dot inside? Does the rule stay the same?

